
Suggested solutions to DHW textbook exercises

Exercise 4.19

(a) At any age, the standard deviation is given by

SD = 100000×
√

A2 30 − (A30)
2

= 100000×
√

0.01109− (.076982)

= 7, 186.153

(b) Before age 50, the standard deviation is given by

SD = 100000×
√

A2 1
30: 20

−
(
A 1

30: 20

)2
where

A2 1
30: 20

= A2 30 − v20 E20 30 A2 50 = 0.01109− (1/1.0520)(0.37254)(0.05108) = 0.003918041

and

A 1
30: 20

= A30 − E20 30A50 = −.07698− (0.37254)(0.18931) = 0.006454453

Therefore,

SD = 100000×
√
0.003918041− (0.006454453)2 = 6226.059

Prepared by E.A. Valdez page 1


